

$$I. \quad y'' - \frac{6+4x^2}{x+x^3} y' + 6 \frac{2+x^2}{x^2+x^4} y = 0$$

$$II. \quad y' - \frac{3}{x} y = 0 \quad / \cdot \frac{1}{x^3} = \text{I.F.}$$

$$(y \cdot \frac{1}{x^3})' = 0$$

$$y = C \cdot x^3$$

$$\Omega_{II} = [x^3]_{\Omega} \quad \& \quad \dim(\Omega_{II}) = 1$$

$$\dim(\Omega_I \cap \Omega_{II}) = 1 \Rightarrow x^3 \in \Omega_I$$

Умкени' ра'ду I. нолмил:

$$y(x) = x^3 \cdot v(x)$$

$$y' = 3x^2 v + x^3 v'$$

$$y'' = 6xv + 6x^2 v' + x^3 v''$$

Qisari:

$$6xv + 6x^2 v' + x^3 v'' - \frac{6+4x^2}{x+x^3} (3x^2 v + x^3 v') + 6 \frac{2+x^2}{x^2+x^4} x^3 v = 0$$

$$x^3 v'' + (6x^2 - \frac{6+4x^2}{1+x^2} x^2) v' = 0$$

$$x^3 v'' + \frac{6x^2 + 6x^4 - 6x^2 - 4x^4}{1+x^2} v' = 0$$

$$v'' + \frac{2x}{1+x^2} v' = 0 \quad / \cdot (1+x^2) = \text{I.F.}$$

$$(v' \cdot (1+x^2))' = C'$$

$$v' = \frac{C}{1+x^2}$$

$$v = C \cdot \arctg(x) + D$$

$$\underline{y = C x^3 \arctg(x) + D x^3}$$

In[3]:= Sum[(-1)^n * n / (2n+1)! * x^(n-1), {n, 0, Infinity}]

Out[3]= $\left\{ \frac{\sqrt{x} \cos[\sqrt{x}] - \sin[\sqrt{x}]}{2 x^{3/2}} \right\}$

$$s(x) = \sum_{n=1}^{\infty} (-1)^n \frac{n}{(2n+1)!} x^{n-1}$$

$$S(x) = \int s(x) dx = \sum_{n=1}^{\infty} (-1)^n \frac{1}{(2n+1)!} x^n + C =$$

$$= \frac{1}{\sqrt{x}} \sum_{n=1}^{\infty} (-1)^n \frac{1}{(2n+1)!} (\sqrt{x})^{2n+1} + C =$$

$$= \frac{1}{\sqrt{x}} \left(\sin(\sqrt{x}) - \sqrt{x} \right) + C =$$

$$= \frac{1}{\sqrt{x}} \cdot \sin(\sqrt{x}) + C - 1$$

$$s(x) = S'(x) = \frac{\frac{1}{2\sqrt{x}} \cos(\sqrt{x}) \cdot \sqrt{x} - \frac{1}{2\sqrt{x}} \sin(\sqrt{x})}{x} = \frac{\sqrt{x} \cdot \cos(\sqrt{x}) - \sin(\sqrt{x})}{2x^{3/2}}$$

pro $x > 0$

Pro obecne' $x \in \mathbb{R} \setminus \{0\}$:

$$s(x) = \frac{\sqrt{x} \cdot \cos(\sqrt{x}) - \sin(\sqrt{x})}{2x^{3/2}} \quad x \neq 0$$

$$\Leftarrow \begin{aligned} \cos(it) &= \cosh(t) \\ \sin(it) &= i \sinh(t) \end{aligned}$$

$$= -\frac{1}{6} \quad x = 0$$